

REGULAR COUNCIL Agenda Addendum

C-09/2024
Wednesday, May 15, 2024
9:00 AM
Town of Pelham Municipal Office - Council Chambers
20 Pelham Town Square, Fonthill

The Town of Pelham is holding hybrid meetings of Council and Committee in accordance with Procedure By-law 4507(2022). Public access to meetings will be provided in-person at the location indicated on the agenda, via Livestream: www.youtube.com/townofpelham/live and subsequent publication to the Town's website at www.pelham.ca.

١	Pa	g	e	S

- 10. Presentation and Consideration of Reports
 - 10.1 Members of Council Reports
 - *10.1.1 Councillor Ker Verbal Update on the Niagara Central Dorothy Rungeling Airport Commission
 - 10.2 Staff Reports Requiring Action
 - *10.2.3 Repeal and Replace By-law No. 22-2024, 2024-0129- 2 3 Corporate Services
- 13. Presentation and Consideration of By-Laws
 - *13.1 Additional Presentation and Consideration of By-Law(s) 4 7
 - 5. By-law 37-2024 Being a By-law to set the rates of taxation for the year 2024.



Memo

To: Town of Pelham Council

From: Teresa Quinlin-Murphy, Director Corporate Services &

Treasurer

Date: May 15, 2024

RE: Repeal and replacement of By-law No. 22-2024 Taxation Rate for

2024

BE IT RESOLVED THAT Council receive the Memo entitled "Repeal and replacement to By-law No. 22-2024 Taxation Rate for 2024", for information;

AND THAT Council repeal and replace By-law No. 22-2024 for taxation rates for 2024 with the new tax rate Schedule "A".

The tax rates that were approved on April 17, 2024, had an error included the amount for Payments in lieu. Payments in lieu are not part of the tax rate schedule.

Appendix 1 is the revised tax rate schedule for a tax levy total of \$19,093,616, which is the approved tax levy budget for 2024.

The tax rates will be lower from the April 17, 2024, by \$300,000.



SCHEDULE A
TOWN OF PELHAM
2024 SCHEDULE OF TAX RATES

				Town of	Pelham	Regional					Education		2024	Total			
PROPERTY CLASS	2024 Property Assessment Value	2024 Tax Ratios	Weighted Assessment	Tax Rate	Tax Levy	General Tax Rate	Tax Levy	Waste Management	Tax Levy	Transit	Tax Levy	Total Tax Rate	Total Levy	Tax Rate	Tax Levy	Tax Rate	Tax Levy
RESIDENTIAL/FARM	2,803,859,339	1	2,803,859,339	0.00609379	\$ 17,086,130.74	0.00666111	\$ 18,676,803.48	0.00050702	\$ 1,421,624.76	0.00030209	\$ 847,019.87	0.00747022	\$ 20,945,446.11	0.0015300	\$ 4,289,904.79	0.01509401	\$ 42,321,481.65
MULTI - RESIDENTIAL	18,604,000	1.97	36,649,880	0.01200477	\$ 223,336.68	0.01312239	\$ 244,128.94	0.00099883	\$ 18,582.23	0.00059512	\$ 11,071.61	0.01471634	\$ 273,782.79	0.0015300	\$ 28,464.12	0.02825111	\$ 525,583.59
NEW MULTI-RESIDENTIAL	966,700	1	966,700	0.00609379	\$ 5,890.87	0.00666111	\$ 6,439.30	0.00050702	\$ 490.14	0.00030209	\$ 292.03	0.00747022	\$ 7,221.46	0.0015300	\$ 1,479.05	0.01509401	\$ 14,591.38
COMMERCIAL OCCUPIED	106,206,550	1.7349	184,257,744	0.01057212	\$ 1,122,828.04	0.01155636	\$ 1,227,361.13	0.00087963	\$ 93,422.47	0.00052410	\$ 55,662.85	0.01296009	\$ 1,376,446.45	0.0088000	\$ 934,617.64	0.03233221	\$ 3,433,892.13
COMMERCIAL ON-FARM BUSINESS	48,600	1.7349	84,316	0.01057212	\$ 513.80	0.01155636	\$ 561.64	0.00087963		0.00052410	\$ 25.47	0.01296009	\$ 629.86	0.0022000	\$ 106.92	0.02573221	\$ 1,250.59
COMMERCIAL EXCESS LAND	674,511	1.7349	1,170,209	0.01057212	\$ 7,131.01	0.01155636	\$ 7,794.89	0.00087963		0.00052410	\$ 353.51	0.01296009	\$ 8,741.72	0.0088000	\$ 5,935.70	0.03233221	\$ 21,808.43
COMMERCIAL VAC LAND	8,200,000	1.7349	14,226,180	0.01057212	\$ 86,691.36	0.01155636	\$ 94,762.15	0.00087963	\$ 7,212.97	0.00052410	\$ 4,297.62	0.01296009	\$ 106,272.74	0.0088000	\$ 72,160.00	0.03233221	\$ 265,124.10
INDUSTRIAL OCCUPIED	6,342,200	2.63	16,679,986	0.01602667	\$ 101,644.34	0.01751872	\$ 111,107.23	0.00133346	\$ 8,457.07	0.00079450	\$ 5,038.88	0.01964668	\$ 124,603.17	0.0088000	\$ 55,811.36	0.04447335	\$ 282,058.87
INDUSTRIAL ON-FARM BUSINESS	100,000	2.63	263,000	0.01602667	\$ 1,602.67	0.01751872	\$ 1,751.87	0.00133346	\$ 133.35	0.00079450	\$ 79.45	0.01964668	\$ 1,964.67	0.0022000	\$ 220.00	0.03787335	\$ 3,787.33
INDUSTRIAL EXCESS LAND	45,100	2.63	118,613	0.01602667	\$ 722.80	0.01751872	\$ 790.09	0.00133346	\$ 60.14	0.00079450	\$ 35.83	0.01964668	\$ 886.07	0.0088000	\$ 396.88	0.04447335	\$ 2,005.75
INDUSTRIAL VAC LAND	101,000	2.63	265,630	0.01602667	\$ 1,618.69	0.01751872	\$ 1,769.39	0.00133346	\$ 134.68	0.00079450	\$ 80.24	0.01964668	\$ 1,984.31	0.0088000	\$ 888.80	0.04447335	\$ 4,491.81
PIPELINES	17,967,000	1.7021	30,581,631	0.01037224	\$ 186,358.04	0.01133788	\$ 203,707.69	0.00086300	\$ 15,505.52	0.00051419	\$ 9,238.45	0.01271507	\$ 228,451.66	0.0088000	\$ 158,109.60	0.03188731	\$ 572,919.31
FARMLANDS	173,178,700	0.25	43,294,675	0.00152345	\$ 263,828.67	0.00166528	\$ 288,391.03	0.00012676	\$ 21,952.13	0.00007552	\$ 13,078.46	0.00186756	\$ 323,421.61	0.0003825	\$ 66,240.85	0.00377351	\$ 653,491.13
MANAGED FORESTS	3,491,000	0.25	872,750	0.00152345	\$ 5,318.36	0.00166528	\$ 5,813.49	0.00012676	\$ 442.52	0.00007552	\$ 263.64	0.00186756	\$ 6,519.65	0.0003825	\$ 1,335.31	0.00377351	\$ 13,173.31
TOTAL ASSESSMENT FOR TAX PURPOSES	3,139,784,700		3,133,290,653		\$ 19,093,616.08		\$ 20,871,182.32		\$ 1,588,654.04		\$ 946,537.92		\$ 23,406,372.28		\$ 5,615,671.02		\$ 48,115,659.37

^{*}Total Property Assessment Value excludes PILS & Exempt



The Corporation of the Town of Pelham

By-law No. 37-2024

Being a By-law to set the rates of taxation for the year 2024.

WHEREAS section 8 of the *Municipal Act, 2001*, S.O. 2001, c. 25 ("*Municipal Act, 2001*" or "the statute") provides that the powers of a municipality under the statute or any other Act shall be interpreted broadly so as to confer broad authority to enable the municipality to govern its affairs as it considers appropriate and to enhance the municipality's ability to respond to municipal issues;

AND WHEREAS section 9 of the *Municipal Act, 2001* provides that a municipality has the capacity, rights, powers and privileges of a natural person for the purpose of exercising its authority under the statute or any other Act;

AND WHEREAS section 312 of the *Municipal Act, 2001* provides that the Council of a local municipality shall, each year, pass a by-law levying a separate tax rate, as specified in the by-law, on the assessment in each property class in the local municipality rateable for local municipality purposes;

AND WHEREAS section 307 and 308 of the *Municipal Act, 2001* requires tax rates to be established in the same proportion to tax ratios;

AND WHEREAS tax ratios for prescribed property classes for the 2024 taxation year have been set by the Regional Municipality of Niagara;

AND WHEREAS the Regional Municipality of Niagara has by by-law set the tax rates, pending tax ratios and tax rate reductions for Region, Waste Management and Education purposes;

AND WHEREAS the Council of the Corporation of the Town of Pelham passed By-law 01-2024 to adopt estimates of all sums required by the Corporation for the year 2024;

AND WHEREAS the 2024 adjustments for the capped classes have been determined;

AND WHEREAS it is necessary for the Council of the Corporation of the Town of Pelham, pursuant to the *Municipal Act*, 2001 to levy on the whole rateable property according to the last revised assessment roll for The Corporation of the Town of Pelham the sums set forth for various purposes in Schedule "A" hereto attached for the current year;

AND WHEREAS Bylaw 22-2024 was adopted by Council on April 17th, 2024, that included incorrect calculations for the tax rates as shown on Schedule "A";

AND WHEREAS Council wishes to repeal and replace bylaw 22-2024 with the corrected tax rates and accompanying corrected Schedule "A";

Page 1 of 3

NOW THEREFORE the Council of the Corporation of the Town of Pelham enacts as follows:

1. Purpose

1.1. The purpose of this By-law is to repeal and replace By-law 22-2024 allowing for taxation for the year 2024 so as to establish the rates of taxation for 2024.

2. General Provisions

- 2.1. For the year 2024, the Corporation of the Town of Pelham shall levy upon the whole rateable properties, the rates of taxation on the current value assessment for general purposes as set out in Schedule "A" attached hereto and forming part of this By-law.
- 2.2. The levy provided for in Schedule "A" attached to this by-law shall be reduced by the amount of the interim tax levy for 2024 and the balance shall be due and payable in two instalments June 28th, 2024 and September 27th, 2024.
- 2.3. A penalty of 1.25% of the amount of each instalment shall be imposed on the first day of default and on the first day of each calendar month thereof in which default continues until taxes are paid as prescribed by subsections 345 (1), (2) and (3) of the *Municipal Act, 2001*.
- 2.4. The Treasurer of the Corporation of the Town of Pelham shall send a tax bill to the taxpayer's residence or place of business or to the premises in respect of which the taxes are payable unless the taxpayer directs the treasurer in writing to send the bill to another address, in which case it shall be sent to that address, at least 21 days before any taxes shown on the tax bill are due.
- 2.5. All monies raised, levied or collected under authority of this by-law shall be paid into the hands of the Town Treasurer, to be applied and paid to such persons and corporations and in such manner as the laws of Ontario and the by-laws or resolutions of the Council direct.

3. General

- 3.1. The short title of this By-law is the "Tax Rate By-law (Revised) 2024".
- 3.2. In the event of any conflict between the provisions of this By-law and any other By-law, the provisions of this By-law shall prevail.
- 3.3. Any reference to legislation in this By-law includes the legislation and any amendment, replacement, subsequent enactment or consolidation of such legislation.
- 3.4. The Town Clerk is hereby authorized to affect any minor modifications or corrections solely of an administrative, clerical, numerical, grammatical, semantical or descriptive nature or kind to this By-law as are determined to be necessary.

4. Repeal and Enactment

Page 2 of 3

4.1.	By-law 22-2024 being	j by-laws	to	set tax	rates	for	2024,	is	hereb	y
	repealed and replaced	l.								

5. Effective Date

5.1. This By-law shall come into force on the date that it is enacted.

Read, enacted, signed and sealed this 15th day of May 2024.

Marvin Junkin	, Mayor
William Tigert, T	own Clerk



SCHEDULE A 37-2024 TOWN OF PELHAM 2024 SCHEDULE OF TAX RATES

				Town of	Pelham	Regional				Education		2024	Total				
PROPERTY CLASS	2024 Property Assessment Value	2024 Tax Ratios	Weighted Assessment	Tax Rate	Tax Levy	General Tax Rate	Tax Levy	Waste Management	Tax Levy	Transit	Tax Levy	Total Tax Rate	Total Levy	Tax Rate	Tax Levy	Tax Rate	Tax Levy
RESIDENTIAL/FARM	2,803,859,339	1	2,803,859,339	0.00609379	\$ 17,086,130.74	0.00666111	\$ 18,676,803.48	0.00050702	\$ 1,421,624.76	0.00030209	\$ 847,019.87	0.00747022	\$ 20,945,446.11	0.0015300	\$ 4,289,904.79	0.01509401	\$ 42,321,481.65
MULTI - RESIDENTIAL	18,604,000	1.97	36,649,880	0.01200477	\$ 223,336.68	0.01312239	\$ 244,128.94	0.00099883	\$ 18,582.23	0.00059512	\$ 11,071.61	0.01471634	\$ 273,782.79	0.0015300	\$ 28,464.12	0.02825111	\$ 525,583.59
NEW MULTI-RESIDENTIAL	966,700	1	966,700	0.00609379	\$ 5,890.87	0.00666111	\$ 6,439.30	0.00050702		0.00030209	\$ 292.03	0.00747022		0.0015300	\$ 1,479.05	0.01509401	\$ 14,591.38
COMMERCIAL OCCUPIED	106,206,550	1.7349	184,257,744	0.01057212	\$ 1,122,828.04	0.01155636	\$ 1,227,361.13	0.00087963	\$ 93,422.47	0.00052410	\$ 55,662.85	0.01296009	\$ 1,376,446.45	0.0088000	\$ 934,617.64	0.03233221	\$ 3,433,892.13
COMMERCIAL ON-FARM BUSINESS	48,600	1.7349	84,316	0.01057212	\$ 513.80	0.01155636	•	0.00087963		0.00052410	\$ 25.47	0.01296009	\$ 629.86	0.0022000	\$ 106.92	0.02573221	\$ 1,250.59
COMMERCIAL EXCESS LAND	674,511	1.7349	1,170,209	0.01057212	\$ 7,131.01	0.01155636	\$ 7,794.89	0.00087963		0.00052410	\$ 353.51	0.01296009	\$ 8,741.72	0.0088000	\$ 5,935.70	0.03233221	\$ 21,808.43
COMMERCIAL VAC LAND	8,200,000	1.7349	14,226,180	0.01057212	\$ 86,691.36	0.01155636	\$ 94,762.15	0.00087963	\$ 7,212.97	0.00052410	\$ 4,297.62	0.01296009	\$ 106,272.74	0.0088000	\$ 72,160.00	0.03233221	\$ 265,124.10
INDUSTRIAL OCCUPIED	6,342,200	2.63	16,679,986	0.01602667	\$ 101,644.34	0.01751872	\$ 111,107.23	0.00133346	\$ 8,457.07	0.00079450	\$ 5,038.88	0.01964668	\$ 124,603.17	0.0088000	\$ 55,811.36	0.04447335	\$ 282,058.87
INDUSTRIAL ON-FARM BUSINESS	100,000	2.63	263,000	0.01602667	\$ 1,602.67	0.01751872	\$ 1,751.87	0.00133346	\$ 133.35	0.00079450	\$ 79.45	0.01964668	\$ 1,964.67	0.0022000	\$ 220.00	0.03787335	\$ 3,787.33
INDUSTRIAL EXCESS LAND	45,100	2.63	118,613	0.01602667	\$ 722.80	0.01751872	\$ 790.09	0.00133346	\$ 60.14	0.00079450	\$ 35.83	0.01964668	\$ 886.07	0.0088000	\$ 396.88	0.04447335	\$ 2,005.75
INDUSTRIAL VAC LAND	101,000	2.63	265,630	0.01602667	\$ 1,618.69	0.01751872	\$ 1,769.39	0.00133346	\$ 134.68	0.00079450	\$ 80.24	0.01964668	\$ 1,984.31	0.0088000	\$ 888.80	0.04447335	\$ 4,491.81
PIPELINES	17,967,000	1.7021	30,581,631	0.01037224	\$ 186,358.04	0.01133788	\$ 203,707.69	0.00086300	\$ 15,505.52	0.00051419	\$ 9,238.45	0.01271507	\$ 228,451.66	0.0088000	\$ 158,109.60	0.03188731	\$ 572,919.31
FARMLANDS	173,178,700	0.25	43,294,675	0.00152345	\$ 263,828.67	0.00166528	\$ 288,391.03	0.00012676	\$ 21,952.13	0.00007552	\$ 13,078.46	0.00186756	\$ 323,421.61	0.0003825	\$ 66,240.85	0.00377351	\$ 653,491.13
MANAGED FORESTS	3,491,000	0.25	872,750	0.00152345	\$ 5,318.36	0.00166528	\$ 5,813.49	0.00012676	\$ 442.52	0.00007552	\$ 263.64	0.00186756	\$ 6,519.65	0.0003825	\$ 1,335.31	0.00377351	\$ 13,173.31
TOTAL ASSESSMENT FOR TAX PURPOSES	3,139,784,700		3,133,290,653		\$ 19,093,616.08		\$ 20,871,182.32		\$ 1,588,654.04		\$ 946,537.92		\$ 23,406,372.28		\$ 5,615,671.02		\$ 48,115,659.37

^{*}Total Property Assessment Value excludes PILS & Exempt